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AABC and APQR are given below.

) Fmd matching sides and wnte thetr names.
G-

A B T S ol
')Fmdtheequalanglesalso g2
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In the flgure below, P i is the mldp'cjint

of AB and CP is p-erpe{pendicu_lla_r'to AB.

_ A
Compute the other two angles of AABC. . B

The sum of a number and 1 added to it mUItipIied 'by 2is
10. Find the number. | ¥ Lo
The sum of three consecutive odd numbers is 63. Find
‘the numbers. e 2
There are__‘male and ferale members in a co-operative
so'ciety. The number of men is fWicﬁe that of women.
When 29 women and 1 0 menjoin the society, the number
of men and women becomes equal How manymen
were there in the soc:lety first? What is the total number
| of members now? - & F Al S
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6 In AABC.AB =AC. The bisector of ZAmeets BC at D.
| Draw a suitéble diag'ram'. Prove that. .
‘a) AABD and ABCD have equal angles.
b) AD is perpendicular toBC. :
7 In AAW;Vgh esmlsc;r;o/&ré is 2cm longer than side AL, BCis
5cm shorter than twice the length of AC. If the perimeter
~ of AABC is 49cm, find the length of the sides of AABC. 3
'8 Inthegiven figuré, 'O is the |

centre of the circle. ZAOC, ZBOC

and ZAOB are equal. .2
What are the angles of AABC? What type of triangle is

)

AABC?
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